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[A]  oilRont usdlon E53i Bar avil. (UASHN a de1) [07]
1. lRei VS) s [Ascu vl & Vid 2w H2 ?
y=3x+ 51 (i) 2t B34 ¢lu. (i) Wat o B3el Sl (iii) 2t B3al giu.
2. ooV 52 [Asau A B did 2w HIZ ? X+ 3y =Ta
(i) d B3a 0. (il) *aL 6L B3d 8. (iii) 2vid B3e ©.
3. y =3 wis:eld As Aqui elfilas zuer eala.
5 3
4. Zsui vaiot @l : 3V 1= =Y A4 @us A3UHL Quil.
5. Zsui ool @ull : 4x + 5y =54l x = 0 ¢y, dl y -l [Bud sl s
6. Zsui waot @ull : x =5 -l AW 5T e AHIAR 2l 5T Had dol dlu B 7
7. Esui ovaier @l : 2y = 3 -l AU 56 e AHIAR 2 5 vad dot ey © 7
[B]  oilont uslon Zsai Bar avil. (UAsol 2 de1) [82]
8. “olleoiscll [Bud Vool (Bud s2di opeil (A dweil) 8”7 2 ([Aeucia [Aa vt wilser 2a30 ealal.
(oll2oisoll Bud T x dan Vool Buda Ty dl.)
9. ealda (gaa v wilseld ax + by + ¢ = 0 ddl5 ealdl v &3s BAk a, b dq ¢ <l Bua 20
: 2x + 3y = 9.35
10. ealda (gaa v wilseld ax + by + ¢ = 0 ddl5 ealdl dd €35 Bk a, b va ¢ ol BGuaa 2Nl
: Y _10-=
P X - 5 10=0
11 ealda (gaa v wlsela ax + by + ¢ = 0 ddl5 ealldl via 35 Bk a, b da ¢ <l Gua 20l
: 2x+3y=6
12, ealda (gaa v wilseld ax + by + ¢ = 0 ddl5 ealdl va &3s Bk a, b dq ¢ ¢l Gua 20l
:x=3y
13, ealda (gaa v wilsela ax + by + ¢ = 0 ddl5 ealdl v &3s Bk a, b dq ¢ <l Gua 20
: 2x = -5y
14.  ealda [gada v wilseld ax + by + ¢ = 0 ddl5 ealdl vid €35 Bk a, b via ¢ ol Bua 2Nl
:3x+2=0
15, ealda [gada v wilsela ax + by + ¢ = 0 ddl5 ealdl vid 35 Bk a, b da ¢ ol Bua 2Nl
ty-2=0
16. ealda (gaa v wilseld ax + by + ¢ = 0 ddl5 ealdl va &35 Bk a, b da ¢ «ll BGua 2Mel
: 5 =2x
17, Aocilell B4 Aol Wil 2dlesd sdi et 21ell 8. v [Aecia vt weilser 2a30 eauldl.
(o2uciloll B3R x 1A 2dlesdoil B y ad dl)
18.  eeildan [gaa ARvi wlseNq ax + by + ¢ = 0 a5 eldl ia €35 [Bapii a, b dia ¢ ol Bua 20 :
2x + 3y = 3.48
19.  ealdan (gaa Wi 2pilsea ax + by +c = 0 adl5 ealdl da €5 B a, b dd ¢ ol Bud
el : x - 9 = 5y
20. ealdan (Gaa v wedlseDq ax + by +c= 0 a3 eald 9 Qs (GApi a, b 4 c <l Bua
el : 4 = 2x — 3y
21, ealdan (gaa v elseDq ax + by +c = 0 dd3 eald 9 s Gavi a, b 4 ¢ < Bua

MeN : y = 5x
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/| Page:2 [/
eldal (gua v wilsela ax + by +c= 0 a5 eald 0 s Gk a, b dad ¢ ol Bua 2he)
:8x-7=0

ealdal (Gaa v Wilseda ax + by +c= 0 dd3 eald 9 s GAvi a, b 4 c < Bua

M : x-2=0

eldal (Gaa v Wilseda ax + by +c= 0 a3 eald 9 s (GAvi a, b 4 c < Bua

obell : 3x = -8y

ealdan (Guaa v Wilseda ax + by +c= 0 a3 eald 9 s GAri a, b 4 c <l Bua

el : y—-5x =0

Als:eldi AR B5d @vd : 2x + Yy =7

lswerddi AR BSd @ul : tx +y =9

als:werdi AR B3d vl : x = 4y

s [Gigal wilsel x - 2y = 4 ot B3da B. da sAL BigyN 63a il A asrd : (0, 2)

sl [Giga wilsel x - 2y = 4 ot B3da B. da sAL BigyN 63a owekil A Asr : (2, 0)

sl [Gigal wilsel x - 2y = 4 ot B3da B. da sAL BigyN 63a oweil A AsR : (4, 0)

s [Gigal wilskeL x - 2y = 4 ot B3a B. a sAL Ligyl G5a okl A ASRKA : («/5, 4x/§)

s [Gigal wilsel x - 2y = 4 ot B3da B. da sAL BigyN 63a il A ask : (1, 1)
Ax=2,y=1R Wwise 2x + 3y = k ol Ns G3d A2, d k ol Bua oM.
Ailswerclt AR GBSl davil : 3x + 2y = -2

Als2wercll AR GBSl avll : 3x + Yy =7

a4ls2erclt AR GSal avil : 3x +4y-24=0

adlserdl AR GSal @il : x = 3y

Adls2erc AR BSdl a@vil : X + 2y = 8

olRowiell san Big x + y = 4 oii G53d 8. Ja sl Gigyl G3d ol A AskR.
@ 2, 3) () (0, 4 (i) (-5, 2) @(v) (1, 3) v) (2, 2)
(Gaa v wilse w2 2udv A : x+y =4

[Gig (2, 14) #iell uaR adl A Juilaii eilszel sl sudl olly S2dl vl Andl AsRe Jia 21 W2 ?
A [Gig (3, 4) wils2e1 3y = ax + 7 ol AU WRei As [ig A dl a ol Bua M.

(gaa uvi 2wilsel w2 AU A : 2x —y =7

(gaa uvi 2wilszel w2 AW &R : 3x + 5y = 6

[Gig P(-1, 2) A wellse1 kx + 3y = 7 ol 3uAvi Wi A5 [Big &1A dl k ol Bua eNel.

wds2e 2x + 9 = 0 of (i) 2s Aqul (i) o aqui @Rlds [zua sauldl.

wiser 2x + 8 = 0 o (i) As Aqwi va (i) A Aaui Adfilas Giguer ealal.

[C] oilAou usdon Es3i Gar avil. (UASH 3 de1)

49,

50.

51

ANs Aéi 252l eng v wHA B : ua BaArile: w eug T 8 ad @R ole €5 [(Gavilez we eug T
5 ula Barilz: 3. sNd vidz x Bakile: va sa eug T y ad an wlEdl w2 (Gaa v wilser avil
Via Acll AU R

AN AN i adusaril As uerRd w ad sl A uerRd grI suRAl Jidren WnrIeR &l dl, Ju
GliGidal A Ad dion Wiselell AuHi Y SA Vial 5 AsH RO 6 ad Aol vuAvi €12 Vial AV
u22ll uerRl gr1I suRla vidz (i) 2 Asu (i) 0 Asu &l car ad srl 2.

kel 9 ol A [nficlRA 1Pl 19 silcrIRA oISUARA dlsl M2 ueloPbil AsaAgSHI AYsd da T
100 sion e, 1 Afddl suenRa (gaa v wilser avil. (ad d¥ell $10u6ll 2540 T x via T y
ad 2sl) uu wdlser vuenRa vl €2\

[18]
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ADRAA. Vol Sasl Al Ll dPlel FRciEleHi HuRL B. eiRkd Ydi 22wl dilcl ARRRME HuRL B,

9
28l FRciéleci Alapi JuidR s2d v wilsel a8, F = (g) C+ 32

-

(i) Bur ealda Yu wllsemi x-28 v AlGuA 2 y-21a R 3l 4 2udw gl
(i) % AlRUUAL 30°C A gly, dl Fdleni g du wa ?

-

(iii) % dwt 95°F (3€l2) <iu, dl AlRunui dwnn s2q Siu ?
(iv) A it 0°C (Aleuun) i, di 3dleni diui 324 €ia 2 o dwt 0°F (321€)2) Sl
dl Al aud seq slu ?

(V)52 v AlRunl Avacns Ad xSl dg) diuHit Sl ? 4 €L dl o kL

As A 25l eug i wA 3. v Gabile: e T 10 v @R ol €5 [Gabdile: we oug T 6

ad ula Bavilz? sNd vidk x Bua 9 sa eug T y ad an wfddl a2 (Gada v wilser avi.

15 (Gailerei sa eug oM.

ADRAA. Vol Sasl YAl Tl dPlel JRciéledi HuRL B. eiRkd di Tl dipel AlRRRME HuRL B,
9

8l Freléles] AlQrpi uicar sd vt wilse F = = C + 32 ana .

5
(i) Guz eafdd 3w AlseUl x-2a U AlRUA A p-218 UR Fdle 4 2UAm 213,

NN

(i) A dludidt 68°F ¢, dl Al diuMi- k.
(iii) % dluHid 10°C €ld, dl 3-dleMl diuHie kL.

NN

(iv) % dludld 0° AlQuuAn €ld, dl F-dledl diuHid 32d Sld 2 % dluHid 0°F 3-dle iy, dl
AlRUUAHL dluHiA 3ed Slu.

NN ~

(V) 3dle 2 AlRuaul Avaics Ad Ad $ld dg dluHid ¢ld 7 % 8L dl o 2l
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